<b>Contractor's Application for Payment</b>		
Owner: City of Crete, Nebraska	Owner's Project N	0.:
Engineer: JEO Consulting Group, Inc.	Engineer's Project	No.: 220169.00
Contractor: Constructors, Inc.	Contractor's Proje	ct No.: 23-015
Project: 2022 Street Improvements (Street In	mprovement Districts 2022-01	to 2022-07)
Contract: 2022 Street Improvements (Street in	mprovement Districts 2022-01	. to 2022-07)
Application No.: 2 Ap	plication Date: 6/1/20	23
Application Period: From 5/20/2023	to 7/5/20	
1. Original Contract Price		
2. Net change by Change Orders		\$ 1,905,856.85 \$ 52,980.34
3. Current Contract Price (Line 1 + Line 2)	2	
4. Total Work completed and materials stor	od to data	\$ 1,958,837.19
(Sum of Column G Lump Sum Total and C		\$ 1,033,537.21
5. Retainage	olumn's one price rotal)	\$ 1,033,537.21
	rt Completed - C	F1 C7C 0C
	rk Completed = \$ red Materials = \$	51,676.86
	red Materials = $\frac{5}{3}$	- <u>-</u>
c. Total Retainage (Line 5.a + Line 5.b)		\$ 51,676.86
6. Amount eligible to date (Line 4 - Line 5.c)		\$ 981,860.35
7. Less previous payments (Line 6 from prio	r application)	\$         51,676.86           \$         981,860.35           \$         657,130.82           \$         324,729.53           \$         976,976.84
8. Amount due this application		\$ 324,729.53
9. Balance to finish, including retainage (Lin	e 3 - Line 4 + Line 5.c)	\$ 976,976.84
Contractor's Certification		
The undersigned Contractor certifies, to the best of its k		
(1) All previous progress payments received from Owner		
applied on account to discharge Contractor's legitimate prior Applications for Payment;	obligations incurred in connectio	n with the Work covered by
(2) Title to all Work, materials and equipment incorpora	ted in said Work, or otherwise lis	ted in or covered by this
Application for Payment, will pass to Owner at time of p		
encumbrances (except such as are covered by a bond ac		
liens, security interest, or encumbrances); and	. , ,	,
(3) All the Work covered by this Application for Payment	is in accordance with the Contra	ct Documents and is not
defective.		
Contractor: SHAWN Keye - (	ONSTRUCTORS	
Signature:		
		Date: 7.13-23
Recommended by Engineer	Approved by Owner	
By: 17 (A)	Ву:	
Title: Project Manager	Title:	
Date: <u>7/12/23</u>	Date:	
Approved by Funding Agency		
Ву:	Ву:	
Title:	Title:	
Date:	Date:	

Contractor's A	pplication fo	or Payment						
Owner:		te, Nebraska			's Project No.:			
Engineer:		lting Group, I	nc.	-	er's Project No.			
Contractor:	Constructo				ctor's Project N			
Project:			cts 2022-01 to 2					
Contract:	2022 Stree	et Improveme	ents (Street Improv			2022-07)		
Application I		2	Applicati	on Date:	6/1/2023			
Application I	Period: F	rom	5/20/2023	to	7/5/2023			
1. Orig	ginal Contra	ct Price				\$ 1,905,856.85		
	-	Change Orde	rs			\$ 52,980.34		
3. Cur	rent Contrac	ct Price (Line	1 + Line 2)			\$ 1,958,837.19		
4. Tot	al Work com	npleted and r	materials stored to	date				
(Su	m of Columr	n G Lump Sur	n Total and Columr	າ J Unit Price	e Total)	\$ 1,033,537.21		
5. Ret	ainage					2012/01/10/2012/2012/2012/11/2018		
a	5%		3,537.21 Work Cor		Service and the service of the servi	1,676.86		
b	-	X \$	- Stored M	aterials =	\$			
		inage (Line 5.				\$ 51,676.86		
	-		e 4 - Line 5.c)			\$ 981,860.35		
50 OK (PSG-PSG-01 2	•	•	e 6 from prior appl	ication)		\$ 657,130.82		
		is application			- \	\$ 324,729.53		
			etainage (Line 3 - L	ine 4 + Line	5.c)	\$ 976,976.84		
Contractor's								
•			he best of its knowle			Contract have been		
			ed from Owner on ac			ith the Work covered by		
prior Applicati			JI S legitimate obliga			the work covered by		
			nent incorporated in	said Work, or	otherwise listed i	in or covered by this		
Application for	r Payment, wi	ill pass to Own	er at time of paymer	nt free and cle	ar of all liens, sec	curity interests, and		
encumbrances	s (except such	n as are covere	d by a bond acceptat					
liens, security								
	k covered by	this Application	on for Payment is in a	ccordance wi	th the Contract D	ocuments and is not		
defective.								
Contractor:								
Signature:					Date	e:		
Recommend	ed by Engine	eer		Approved by	y Owner			
Ву:				Ву:				
Title:								
Date:				Date:				
Approved by	Funding Ag	gency						
Ву:				Ву:				
Title:				Title:				
Date:				Date:				

							-	Owner's Project No		220150.00
							-	Engineer's Project N		220169.00
							-	Contractor's Project	No.:	23-015
	022-01 to 2022-07)	1					-			
ion Period:		04/05/23	to	05/19/23			-	Applica	ation Date:	05/19/23
ion r chou.	C C	D	E	F	G	Н	and the second second second	toward and provide the	ĸ	
Second Second	L L		Contract Information		F G Work Compl			Sector in Colores of States	30302 Barley	
			Unit Price	Value of Bid Item (C X E)	Estimated Quantity Incorporated in	Value of Work Completed to Date (E X G)	Materials Currently Stored (not in G)	Work Completed and Materials Stored to Date (H + I)	% of Value of Item (J / F)	Balance to Finish (F - J)
A Martine	Item Quantity	Units	(\$)	(\$) Contract	the Work	(\$)	(\$)	(\$)	(%)	(\$)
22-06)	the second second second	a kan da baba da	Urigina	Contract					NAME OF A	
22-00)	1	LS	\$44,479.57	44,479.57					0%	44,479.5
	1	LS	\$481.85	481.85		The second second second		La la company de L	0%	481.8
	1	LS	\$1,385.32	1,385.32		and a full a description		Sector Sector Sec.	0%	1,385.3
	10	EA	\$3,922.27	39,222.70		walks a war a fire		an an an an	0%	39,222.7
	170	SY	\$10.84	1,842.80		1. 7. 100 C. 10. 10.			0%	1,842.8
	663	SF	\$3.01	1,995.63		Weissen Manserer -			0%	1,995.6
	1	EA	\$1,806.94	1,806.94		na an an an an an an an a		an	0%	1,806.9
	173	LF	\$13.49	2,333.77		in an an an an an		Philip Anna San Anna Anna Anna Anna Anna Anna	0%	2,333.7
	4	EA	\$1,927.40	7,709.60				Energia de la conserva-	0%	7,709.6
	1	EA	\$2,770.65	2,770.65				1999 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	0%	2,770.6
ntity)	750	CY	\$21.68	16,260.00		a de la company <del>e</del> la company en la company e		e dive the second second	0%	16,260.0
	2,350	SY	\$66.87	157,144.50		-		na an an Arganta an Arg	0%	157,144.5
	119	SY	\$78.62	9,355.78					0%	9,355.7 40,335.9
	4,751	SF	\$8.49	40,335.99				•	0%	40,335.9
	56	SF	\$26.77	1,499.12		-			0% 0%	13,136.5
	2,350	SY	\$5.59	13,136.50 137.94					0%	13,136.3
	2	TONS EA	\$68.97 \$736.78	1,473.56					0%	1,473.5
	1	EA	\$655.91	655.91		an an an an an an ar			0%	655.9
	3	EA	\$7,690.03	23,070.09		and the second states and		-	0%	23,070.0
	2	EA	\$8,819.32	17,638.64		and the second s		an a second to a se	0%	17,638.6
	1	EA	\$7,724.34	7,724.34		and a state of the		and a first for Si-	0%	7,724.3
	1	EA	\$993.10	993.10		a production of the second		al de la de la compañía 🚽	0%	993.1
	68	LF	\$59.11	4,019.48				a ser a ser a ser a se	0%	4,019.4
	204	LF	\$62.15	12,678.60		•			0%	12,678.6
	6	LF	\$95.47	572.82		11日 日本 日本			0%	572.8
	1	LS	\$4,259.36	4,259.36					0%	4,259.3
	2	EA	\$144.88	289.76					0%	289.7
	2,350	SY	\$6.02	14,147.00		a service a service of		1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	0%	14,147.0
	100	LF	\$7.36	736.00		•		1997 - 1997 -	0%	736.0
	1	EA	\$175.72	175.72		- 1997 - <b>-</b>			0%	175.7
	0.5	ACRE	\$27,801.96	13,900.98					0%	13,900.9
T		10	¢20.910.75	29,810.75	1.00	29,810.75		29,810.75	100%	
	1	LS	\$29,810.75 \$481.85	29,810.75	1.00	481.85		481.85	100%	
	1	S	\$1,385.32	1,385.32	1.00	1,385.32		1,385.32	100%	a Standard and Anna A
	6	EA	\$3,922.27	23,533.62	6.00	23,533.62		23,533.62	100%	
	100	SY	\$10.84	1,084.00	100.00	1,084.00		1,084.00	100%	CONTRACTOR OF
	372	SF	\$3.01	1,119.72	372.00	1,119.72		1,119.72	100%	$(h_{1},h_{2}) \in \mathcal{A}_{1} \setminus \mathcal{A}_{2}$
	55	LF	\$16.23	892.65	55.00	892.65		892.65	100%	
	3	EA	\$1,927.41	5,782.23	3.00	5,782.23		5,782.23	100%	
tity)	250	CY	\$21.68	5,420.00	250.00	5,420.00		5,420.00	100%	
	1,535	SY	\$67.44	103,520.40	1,535.00	103,520.40		103,520.40	100%	a the standard
	188	SY	\$78.63	14,782.44	154.00	12,109.02		12,109.02	82%	2,673.4
	2,448	SF	\$8.81	21,566.88	2,448.00	21,566.88		21,566.88	100%	
	55	SF	\$101.11	5,561.05	55.00	5,561.05		5,561.05	100%	
	48	SF	\$36.49	1,751.52	48.00	1,751.52		1,751.52	100%	

	022-01 to 2022-07)						- - -	Owner's Project No. Engineer's Project N Contractor's Project	220169.00 23-015	
it Districts 20	D22-01 to 2022-07) From	04/05/23	to	05/19/23	×		-	Applica	ition Date:	05/19/23
.ion renou.	-		-			н	Standing and a stand of the stand	and other last of proper party and	К	The second second
all and the set	c	D	E t Information	F	G Work (	Completed	Constitution of Constitution		Sound N line of	
	Item Quantity	Units	Unit Price (\$)	Value of Bid Item (C X E) (\$)	Estimated Quantity Incorporated in the Work	Value of Work Completed to Date (E X G) (\$)	Materials Currently Stored (not in G) (\$)	Stored to Date (H + I) (\$)	% of Value of Item (J / F) (%)	Balance to Finish (F - J) (\$)
	1,535	SY	\$5.59	8,580.65	1,535.00	8,580.65		8,580.65	100%	
	2	TONS	\$68.97	137.94	2.00	137.94		137.94	100%	
	4	EA	\$429.79	1,719.16	4.00	1,719.16		1,719.16 3,093.88	100%	
	1 5	LS	\$3,093.88 \$145.02	3,093.88 725.10	1.00	3,093.88		3,093.88	0%	725.1
		EA SY	\$145.02	9,240.70	1,535.00	9,240.70		9,240.70	100%	/23.1
	1,535 100	LF	\$5.02	736.00	1,555.00	9,240.70		5,240.70	0%	736.0
	100	EA	\$175.72	175.72		and the second s			0%	175.7
	0.25	ACRE	\$27,803.44	6,950.86	0.25	6,950.86		6,950.86	100%	Washington Stables
	0.25	ACIL	\$27,005.44	0,550.00	0.25			R. S. Marine Marine and	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	No. Contraction of the
1	1	LS	\$29,340.47	29,340.47	1.00	29,340.47		29,340.47	100%	a ta a set a set -
	1	LS	\$481.85	481.85	1.00	481.85		481.85	100%	in a second when the
	1	LS	\$1,385.32	1,385.32	1.00	1,385.32		1,385.32	100%	a the second a
	4	EA	\$3,922.27	15,689.08	4.00	15,689.08		15,689.08	100%	de las estados de serve
	18	SY	\$10.84	195.12		la gran in same bar		a second a second	0%	195.1
	1	EA	\$1,806.94	1,806.94	1.00	1,806.94		1,806.94	100%	
	5	LF	\$27.58	137.90	5.00	137.90		137.90	100%	er averega Barra
ntity)	121	CY	\$31.23	3,778.83	121.00	3,778.83		3,778.83	100%	
	939	SY	\$66.68	62,612.52	939.00	62,612.52		62,612.52	100%	- A
	1,335	SF	\$7.26	9,692.10	1,335.00	9,692.10		9,692.10	100%	and the second second
	10	SF	\$101.09	1,010.90		et 1999 et 1997 et 1997		an a start d'an an e	0%	1,010.90
	939	SY	\$5.59	5,249.01	939.00	5,249.01		5,249.01	100%	ent of the second second
	1	LS	\$3,093.88	3,093.88	1.00	3,093.88		3,093.88	100%	and the second second
	939	SY	\$6.02	5,652.78	939.00	5,652.78		5,652.78	100%	-
	100	LF	\$7.36	736.00					0%	736.0
	1	EA	\$174.90	174.90		and the second		-	0%	174.9
	0.25	ACRE	\$27,803.44	6,950.86	0.25	6,950.86		6,950.86	100%	
			¢20,202,50	20 202 50	1.00	29,202.59		29,202.59	100%	
	1	LS	\$29,202.59	29,202.59	1.00	481.85		481.85	100%	-
	1	LS	\$481.85 \$1,385.32	481.85 1.385.32	1.00	1,385.32		1,385.32	100%	
	4	EA	\$1,385.32	1,385.32	4.00	1,383.32		15,689.08	100%	and the second
	373	SY	\$3,922.27	4,043.32	373.00	4,043.32		4,043.32	100%	
	2,317	SF	\$3.01	6,974.17	2,317.00	6,974.17		6,974.17	100%	
	4	EA	\$1,927.40	7,709.60	4.00	7,709.60		7,709.60	100%	a de la come de la come
tity)	69	CY	\$21.68	1,495.92	69.00	1,495.92		1,495.92	100%	and grand and
	1,341	SY	\$69.01	92,542.41	1,341.00	92,542.41		92,542.41	100%	and the second second
	50	SY	\$78.61	3,930.50	50.00	3,930.50		3,930.50	100%	- A. 19 -
	3,318	SF	\$10.42	34,573.56	3,318.00	34,573.56		34,573.56	100%	1. 1. 1. 1. 1. 1. 1. 1
	112	SF	\$36.49	4,086.88	112.00	4,086.88		4,086.88	100%	193 - S. S.
	1,341	SY	\$5.58	7,482.78	1,341.00	7,482.78		7,482.78	100%	en en en ser brete e
	2	TONS	\$68.97	137.94		San			0%	137.9
	2	EA	\$532.11	1,064.22	2.00	1,064.22		1,064.22	100%	
	1	EA	\$4,336.00	4,336.00	1.00	4,336.00		4,336.00	100%	and the second second
	1	LS	\$3,093.88	3,093.88	1.00	3,093.88		3,093.88	100%	general de prove-
	1	EA	\$145.65	145.65					0%	145.6
	1,110	SY	\$6.02	6,682.20	555.00	3,341.10		3,341.10	50%	3,341.10
	100	LF	\$7.36	736.00		and so a stranger 🖬		and the second second	0%	736.0
	0.25	ACRE	\$27,803.44	6,950.86		1000			0%	6,950.86

	022-01 to 2022-07							Owner's Project No.: Engineer's Project No.: Contractor's Project No.:		220169.00 23-015	
ion Period:	522-01 to 2022-07 From	04/05/23	to	05/19/23				Applica	ation Date:	05/19/23	
ion renou.					A STATUS AND A STATUS	· · · · · · · · · · · · · · · · · · ·	sector sector sector sector	in company provide	к	CONTRACTOR D	
C. B. Starten	С	D	E ct Information	F	G	H Completed	ha Marang Barang Bar Barang Barang Barang Barang Barang	And the second second second		And the second s	
	Item Quantity	Units	Unit Price (\$)	Value of Bid Item (C X E) (\$)	Estimated Quantity Incorporated in the Work	Value of Work Completed to Date (E X G) (\$)	Materials Currently Stored (not in G) (\$)	Work Completed and Materials Stored to Date (H + I) (\$)	% of Value of Item (J / F) (%)	Balance to Finish (F - J) (\$)	
		10	\$28,884.99	28,884.99	1.00	28,884.99		28,884.99	100%		
	1	LS	\$28,884.99	481.85	1.00	481.85		481.85	100%	And the second s	
	1	LS	\$1,385.32	1,385.32	1.00	1,385.32		1.385.32	100%		
	1	EA	\$3,922.27	3,922.27	1.00	3,922.27		3,922.27	100%		
	23	SF	\$5,522.27	138.46	23.00	138.46		138.46	100%	San Andrea	
	25	EA	\$1,927.41	3,854.82	2.00	3,854.82		3,854.82	100%		
	1	EA	\$2,770.65	2,770.65	1.00	2,770.65		2,770.65	100%		
ntity)	42	CY	\$21.68	910.56	42.00	910.56		910.56	100%	and the second second	
	924	SY	\$65.41	60,438.84	924.00	60,438.84		60,438.84	100%		
	1,745	SF	\$9.76	17,031.20	1,745.00	17,031.20		17,031.20	100%	$ h_{i}  =  h_{i}  +  h_{i}  +  h_{i} $	
	40	SF	\$36.49	1,459.60	40.00	1,459.60		1,459.60	100%	and the second second	
	924	SY	\$5.58	5,155.92	924.00	5,155.92		5,155.92	100%		
	1	LS	\$3,093.88	3,093.88	1.00	3,093.88		3,093.88	100%		
	924	SY	\$6.02	5,562.48	500.00	3,010.00		3,010.00	54%	2,552.4 2,208.0	
	300	LF	\$7.36	2,208.00		-			0%	2,208.0	
	2	EA	\$174.98	349.96	0.25	6,950.86		6,950.86	100%	343.3	
	0.25	ACRE	\$27,803.44	6,950.86	0.25	6,950.86		0,950.80	100%		
	1	LS	\$29,880.87	29,880.87					0%	29,880.8	
	1	LS	\$481.85	481.85		10 10 10 10 10 10 10 10 10 10 10 10 10 1		Salary Constant of a	0%	481.8	
	1	LS	\$1,385.32	1,385.32		1999 - 1999 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -		s page to a life -	0%	1,385.3	
	4	EA	\$3,922.27	15,689.08		19 19 11 11 1 1		an an the letter of the	0%	15,689.0	
	3	EA	\$1,927.41	5,782.23		and the second second		and a second state	0%	5,782.2	
tity)	97	CY	\$21.68	2,102.96				675 C. 1997 - 1997 -	0%	2,102.9	
	1,265	SY	\$68.14	86,197.10				1999 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	0%	86,197.1	
	42	SY	\$78.59	3,300.78		a de la compañía de ser			0%	3,300.7	
	4,161	SF	\$9.28	38,614.08		(1,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2		-	0%	38,614.0	
	80	SF	\$36.49	2,919.20					0%	2,919.2	
	1,265	SY	\$5.59	7,071.35					0%	7,071.3	
	1	TONS	\$69.95	69.95		- 18 C		-	0%	69.9	
	1	EA	\$327.45	327.45		Construction of the second second		-	0%	327.4	
	1	EA	\$2,891.10	2,891.10		aligne i se se se		and a straight and the	0%	2,891.1 3,093.8	
	1	LS	\$3,093.88	3,093.88		17 A. 19 A. 19 A.			0% 0%	289.7	
	2	EA SY	\$144.88	289.76 7,615.30		-			0%	7,615.3	
	1,265 400	LF	\$6.02	2,944.00					0%	2,944.0	
	3	EA	\$175.22	525.66		and the second		and a state of the state	0%	525.6	
	0.25	ACRE	\$27,803.44	6,950.86		and the stand and an		-	0%	6,950.8	
				the set of the set		and the second second				Sec. Constraints	
	1	LS	\$41,531.98	41,531.98		and the set of the set			0%	41,531.9	
	1	LS	\$481.85	481.85				1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.	0%	481.8	
	1	LS	\$1,385.32	1,385.32		$(1,1) \in \mathbb{R}^{n}$			0%	1,385.3	
	3	EA	\$3,922.27	11,766.81				and the second second second	0%	11,766.8	
	1	EA	\$1,806.94	1,806.94		and when the set		an Shinire	0%	1,806.9	
	15	LF	\$12.47	187.05		the second		a tana a sa si sa	0%	187.0	
tity)	399	CY	\$21.68	8,650.32		and the second		a start and	0%	8,650.3	
	971	SY	\$64.65	62,775.15		entre de la serie			0%	62,775.1	

	122-01 to 2022-07						- - -	Owner's Project No. Engineer's Project N Contractor's Project	220169.00 23-015	
on Period:	From	04/05/23	to	05/19/23			-	Applica	tion Date:	05/19/23
and the second second	C	D	E	E F	G	H	Contract In the second	June	К	L
	C	N. LOW TOPPLET BEAUTINE TO THE	t Information			ompleted	and the second second second second		220122	and the second second
	Item Quantity	Units	Unit Price (\$)	Value of Bid Item (C X E) (\$)	Estimated Quantity Incorporated in the Work	Value of Work Completed to Date (E X G) (\$)	Materials Currently Stored (not in G) (\$)	Work Completed and Materials Stored to Date (H + I) (\$)	% of Value of Item (J / F) (%)	Balance to Finish (F - J) (\$)
	2,295	SF	\$8.26	18,956.70		no serve la terre de la sere		-	0%	18,956.7
	48	SF	\$36.49	1,751.52				and the second second	0%	1,751.5
	971	SY	\$5.59	5,427.89		Contraction Contraction		and the second	0%	5,427.8
	1	TONS	\$69.95	69.95					0%	69.9 72.8
	1	EA	\$72.86	72.86		The function of the state of the state of the			0%	6,978.9
	1	EA	\$6,978.99	6,978.99					0%	8,714.5
	1	EA	\$8,714.52	8,714.52					0%	1,664.9
	32	LF	\$52.03	1,664.96				and a subsection of the section of t	0%	9,881.8
	159	LF	\$62.15	9,881.85					0%	1,463.6
	1	EA LS	\$1,463.69 \$3,093.88	3,093.88					0%	3,093.8
	1 971	SY	\$3,093.88 \$6.02	5,845.42					0%	5,845.4
	100	LF	\$6.03	603.00		and the second second			0%	603.0
	2	EA	\$174.98	349.96		all and the second second		and shares and second	0%	349.9
	0.25	ACRE	\$27,803.44	6,950.86		an an an an an an an		Contraction of the	0%	6,950.8
	0.25	ACIAL	\$27,005.44	0,550.00		and the second of the second		a Marthana hanasa		all growing de
	1	LS	\$41,620.10	41,620.10	1.00	41,620.10		41,620.10	100%	and a second second
	1	LS	\$481.85	481.85	1.00	481.85		481.85	100%	Second and the
	1	LS	\$1,385.32	1,385.32	1.00	1,385.32		1,385.32	100%	and the second
	7	EA	\$3,922.27	27,455.89	7.00	27,455.89		27,455.89	100%	and the second second
	104	SY	\$10.84	1,127.36	104.00	1,127.36		1,127.36	100%	$(1,2,2) \in \mathbb{R}^{n} \times \mathbb{R}^{n}$
	234	SF	\$3.01	704.34	228.00	686.28		686.28	97%	18.0
	1	EA	\$1,927.41	1,927.41	1.00	1,927.41		1,927.41	100%	
	1	EA	\$5,420.83	5,420.83		1997 - 1997 - 1997 - <b>1</b> 997 - 1997 -		•	0%	5,420.8
	14	LF	\$548.11	7,673.54		<ul> <li>1.1.1</li> <li>1.1.1</li> <li>1.1.1</li> </ul>			0%	7,673.5
ity)	256	CY	\$21.68	5,550.08	256.00	5,550.08		5,550.08	100%	
	1,103	SY	\$66.61	73,470.83	1,103.00	73,470.83		73,470.83	100%	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	88	SY	\$78.62	6,918.56	88.00	6,918.56		6,918.56	100%	10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	2,984	SF	\$10.25	30,586.00	2,984.00	30,586.00		30,586.00	100%	
	88	SF	\$36.49	3,211.12	94.00	3,430.06		3,430.06	107%	(218.9
	1,103	SY	\$5.59	6,165.77	1,103.00	6,165.77		6,165.77	100%	
	2	TONS	\$68.97	137.94				4.054.55	0%	137.9
	2	EA	\$532.11	1,064.22	2.00	1,064.22		1,064.22	100%	4,141.7
	1	EA	\$8,283.46	8,283.46	0.50	4,141.73		4,141.73 4,357.26	50% 50%	4,141.7 4,357.2
	1	EA	\$8,714.52	8,714.52	0.50	4,357.26		4,357.26	100%	4,357.2
	32	LF	\$59.12	1,891.84	32.00		-	1,891.84	100%	
	164	LF	\$62.15	10,192.60 1,463.69	164.00 1.00	10,192.60 1,463.69		1,463.69	100%	
	1	EA LS	\$1,463.69 \$3,093.88	3,093.88	1.00	3,093.88		3,093.88	100%	
				6,640.06	500.00	3,093.88		3,053.88	45%	3,630.0
	1,103	SY LF	\$6.02 \$7.36	1,472.00	500.00	3,010.00		3,010.00	43%	1,472.0
	200	EA	\$174.98	349.96		-		and a second second second	0%	349.9
	0.25	ACRE	\$174.98 \$27,803.44	6,950.86					0%	6,950.8
	0.25	AUNE	\$27,803.44	0,550.80					570	
			al Contract Totals	\$ 1,905,856.85		\$ 980,556.87	\$	\$ 980,556.87	51%	\$ 925,299.9

								<b>Contractor's Ap</b>	plication	for Payment
							_	Owner's Project No.		
							-	Engineer's Project N		220169.00
							-	Contractor's Project	No.:	23-015
	022-01 to 2022-07						-			
t Districts 2	022-01 to 2022-07	')					-			
ion Period:	From	04/05/23		Applica	ation Date:	05/19/23				
The second	С	D	E	F	G	Н	E CARL	J	К	L
		Contra	ct Information		Work	Completed	Contraction of the second second			
	Item Quantity	Units	Unit Price (\$)	Value of Bid Item (C X E) (\$)	Estimated Quantity Incorporated in the Work	Value of Work Completed to Date (E X G) (\$)	Materials Currently Stored (not in G) (\$)	Work Completed and Materials Stored to Date (H + I) (\$)	% of Value of Item (J / F) (%)	Balance to Finish (F - J) (\$)
and the second second				e Orders					ann - Starbard Pa Bhailtean Charles	and the second diversion
	1.00	LS	52,980.34	52,980.34	1.00	52,980.34		52,980.34	100%	a consider a second data
										and a start of the
				Street and the second						100 State 100 State - 1
								- 1. S.	1.0.2	a an ta da an an
				Shere's she was to re-				an sheri a sa sa <del>s</del>		- 51 - 12 - 12 - 12 - 12 - 12 - 12 - 12
						and the second second		1999 - C. S.		a that we had see -
				-		and states and the set		and the second	and produce	a de regender <del>-</del>
				15.75 States - 20				and states and the	Section 200	a service receptor -
				1997 - 19		And the second second		San an a	${\rm Str}_{{\rm e}}({\rm St}_{{\rm e}}^{-1}) = {\rm St}_{{\rm e}}^{-1} = {\rm $	-
						$\left\{ e_{i}^{(i)},e$		and the second -	Sec. Sec.	and the second second
				and the second second second		and a second standard		and the second		
						and the first sector -		$(d_{i}, \dots, d_{i}) \in \mathcal{A}_{i} \to \mathcal{A}_{i}$		a provinsi
			0	en en en fre min-m		en de la companya de		en e specie a sei -		2019 (C. S.
				and the second second		and the second		and a start of the start of the	Constant and	1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -
					6	$   _{\mathcal{T}_{p}}^{\infty} =     _{\mathcal{T}_{p}}^{\infty}    _{\mathcal{T}_{p}}^{\infty}     _{\mathcal{T}_{p}}^{\infty}     _{\mathcal{T}_{p}}^{\infty}     _{\mathcal{T}_{p}}^{\infty}      _{\mathcal{T}_{p}}^{\infty}                                     $		10.000 (10.000) (1 <del>-</del>	an the star	an second from -
						1 ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) (		an an an the Article 🗧	in and the	and the work of the
						- 10		a the state of the state of the state	1947 19	a de la companya de l
						and the second		1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	100 - 100 -	en provinsi de re-
								and the second sec		a she bi she at at a
		C	hange Order Totals	\$ 52,980.34		\$ 52,980.34	\$	\$ 52,980.34	100%	\$
	A Second Second	A supply and a set		and Change Orders					1988 - N. 2018 - N	and the second second
			Project Totals	\$ 1 958 837 19		\$ 1.033.537.21	5	\$ 1.033.537.21	53%	\$ 925,299.98

## **Contractor's Application for Payment**

						-	Owner's Project No.	:	
						-	Engineer's Project N		220169.00
						-	Contractor's Project	No.:	23-015
ement Districts 2022-01 to	2022-07)					-		-	
ement Districts 2022-01 to						-			
	Application Period:	From	05/20/23	to	07/05/23	-		Application Date:	06/01/23
D	E	F	G	Н	La	J.	К	L	M
		PROVIDENCES		Materials Stored	and the second second second	The second second second	Incorporated in Worl		
ription of Materials or Equipment Stored	Storage Location	Application No. When Materials Placed in Storage	Previous Amount Stored (\$)	Amount Stored this Period (\$)	Amount Stored to Date (G + H) (\$)	Amount Previously Incorporated in the Work (\$)	Amount Incorporated in the Work this Period (\$)	Total Amount Incorporated in the Work (J + K) (\$)	Materials Remaining in Storage (I - L) (\$)
Equipment Storeu	Storage Location	Storage	(2)	(7)		(*)	(4)		successive and second
					STATE STATE				
					10-01-01-01-01-01-01-01-0-0-0-0-0-0-0-0				
								1994 (N. 1997) (N. 4	
								-	
					a she had a she a				
					in a provinsing 2				1
					an an an an an an an			1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	1996 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -
					-			1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	a Antonia a station
					San Sherry Color-			nia managina di <del>s</del>	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
					a an an an an an an an			and the second second	
					- 10 C				
					Sec. Sec. Sec. Sec. 4				1800 - 18 A. A. A. A.
					$(1,1)^{1/2} = $			Sector and the	Nego de la Alexander
					1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -				<sup>ne</sup> k anti-periodi anti-γ
					(1,2) = (1,2) + (1,2			States and the second	an an an an an <del>a</del> n
					1997 - 1997 - 1997 <b>-</b> 1997 -				a an
					Sector States of the			■ 1997 € 1997 € 1	att season in the
		Totals	\$ -	\$ Martine - M	\$	\$ -	\$	\$	\$ -

EJCDC C-620 Contractor's Application for Payment (c) 2018 National Society of Professional Engineers for EJCDC. All rights reserved.